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Each question has four alternative responses marked serially

as 1, 2, 3, 4. You have to darken only one circle or bubble

indicating the correct answer on the Answer Sheet using BLUE

BALL POINT PEN.

6. The OMR Answer Sheet is inside this Test Booklet. When
vou are directed to open the Test Booklet. take out the
Answer Sheet and fill in the particulars carefully with blue
ball point pen only.

7. 1/3 part of the mark(s) of each question will be
deducted for each wrong answer. A wrong answer imeans
an incorrect answer or more than one answers for any
question. Leaving all the relevant circles or bubbles of any
question blank will not be considered as wrong answer.

8. Mobile Phone or any other electronic gadget in the
examination hall is strictly prolibited. A candidate found
with any of such objectionable material with him/her will be
strictly dealt as per rules.

9. Please correctly fill your Roll Number in O.M.R. Sheet.
5 Marks can be deducted for filling wrong or incomplete Roll
Number.

10. If there is any sort of ambiguity/mistake either of printing or

factual nature then out of Hindi and English Version of the

question, the English Version will be treated as standard.

Warning : If a candidate is found copying or if any unauthorized

material is found in his/her possession, F.ILR. would be lodged

against him/her in the Police Station and he/she would lable to be
prosecuted. Department may also debar him/her permanently
from all future examinations.
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b,d,a,c,f,e (2)

(1) a.5padf
(3) ¢ b,adef (4)

d,a,cb,ef

Human resources are —

a. Skills b. Energy
- .c. _,Money d. Knowledge
" Codes
(1) a/b.cd (2) a.c,d
(3) b.c.d (4) a.b.d

A budget is —

(1) An income-expenditure plan
(2) An evaluation of-income

(3) Division of wants

(4) A national plan

Fabrics made of cotton, wrinkle easily
because of the following reason :

(1) Low Resiliency of fibres

(2) High protein content

(3) High mineral content

(4) All of these

Following fibres have
bright sheen :

(1) Cellulosic fibre (2) Rubber fibre
(3) Mineral fibre (4) Protein fibre

unusuaily

Following are the technical terms
used in  weaving to denote
respectively the yarns used
lengthwise & across :

(1) Wett & Warp

(2) Warp & Wett

(3) Fabric & Yarn

(4) Embroidery & Frame

The first man-made fibre produced in
1895 AD is

(I) Rayon (2) Polyester

(3) Asbestos (4) Nylon

The process of Retting is used for
which fibre ?

(1) Wool (2) Nylon

(3) Linen (4) Rayon

Give the correct sequence of making
Nylon-66 :

a. Making chips

b. Polymerization

¢. Melting

d. Formation of Ribbon
e. Drawing and Twisting
f.  Spinning

Codes :

(1) b,d,a.c.T.e

(2) a,c,b,e d, f
(Y ©shadet €

4) d,a,c.b.e t
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(1) b,c,d, e a (2) b,ca,de
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(3) 43 (4) 26
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(1) 2.0-2.5kg (2) 2.6-34kg

(3) 3.2-3.5kg (4) 3.5-4.0kg
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Which of the following is not a
primary property of a tibre ?

(1) Strength (2) Flexibility
(3) Cohesiveness (4) Density

In which weave cards are used during
weaving ?

(1) Twill weave
(3) Pile weave

(2) Plain weave
(4) Jacquard weave

Which fibre is easily effected by moth
and fungus ?
(1Y Wool

(3) Polyester

(2) Cotton
(4) Rayon

The amount of twist in a fibre is
measured per

(1) strand (2) piece

(3) inch (4) ftibre
Method of developing a pattern from
body measurement

(1) Clothing construction

(2) Pattern making

(3) Drafting

(4) Draping

Give the correct sequence of cutting a
cloth for garment :

a. Lay out the plan

b. Taking measurement

c. Preparing a draft

d. Tracing the stitching line

e. Cutting the cloth

Codes :

(1) b,c,d,e, a
(3) a,b,c.d, e

(2) b,c,a,d, e
(4) e,b,c,d,a

Which part of the body of an embryo
develops first ?
(1) Hands

(3) Feet

(2) Head
(4) Stomach

Each normal cell of human body contains
following number of chromosomes :

(1) 46 2) 23

(3) 43 (4) 26

Following birth weight of Indian baby
is considered as normal

(1) 20-25kg (2) 2.6-34kg
(3) 32-35kg (4) 3.5-4.0kg
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At one year of age, the infant shows

following changes in his body

measurement :

(1) Body weight triples and height
increases by 50%

(2) Body weight doubles and height
increases by 25% '

(3) Body weight triples and height
increases by 100%

(4) Body weight doubles and height
increases by three times

According to “proximodistal trend” of
development, which organ becomes
functional first ?

(1) Head (2) Heart

(3) Hands (4) Legs

Some new born reflexes are

a. Moro b. Cooing
c. Rooting d. Babinski
e. Creeping

Codes :

(1) a,c.d (2) a,b,c

(3) b,c,d (4) c,d.e

The capacity of an individual to think
rationally and solve problem is a part
of

(1) Fine motor activity

(2) language development

(3) cognitive development

(4) good management skill

Some behaviour abnormalities that
seem to indicate problematic children :

a. Stealing b. Lying

¢. Temper tenturms d.  Nail biting
Codes :

(1) a,b,c,d (2) a,b,c

(3) a,b (4) a,d
Sensorimotor development occurs

maximum during which age ?
(1) Birth to one year

(2) Birth to two years

(3) One to two years

(4) Two to five years
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What is more important for language
development of a child ?

(1) Good ftood

(2) Good social environment

(3) Good moral development

(4) Good emotional development

Motivational factors leading to moral
development of a child is

(1) Fear of rejection

(2) Desire of acceptance

(3) Desire of identification

(4) All of these

Which ot the following factors affect
growth and development in children ?
(I) Environment (2) Heredity

(3) Nutrition (4) All of these

Which of the following is considered
as the “Golden Period™ of life span ?
(1) Infancy (2) Adolescence
(3) Adulthood (4) Old age

A field of study devoted to
understanding all the aspects of
human growth throughout life span is

(1) Child Development

(2) Child Psychology

(3) Personality Development

(4) Human Development

The length of a normal full time baby
at the time of birth is

(1) 35cm (2) 50 cm
(3) 75cm (4) 100 cm
Adult  literacy  programme s

considered as

(1) Non-formal education
(2) Formal education

(3) Informal education
(4) All of these

Which of the tollowing is a tool for
programme evaluation ?

(1) Assessment of adoption practice.
(2) Assessment of performance.

(3) (1) &(2) both

(4) None of these
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Following is not an extension

programme of ICAR (Indian Council

of Agricultural Research) :

(1) Lab to land programme

(2) Krishi Vigyan Kendra

(3) National Agricultural Technology
Project

(4) Integrated Child
Services

Development

Arrange the given legislation in order
of their enactment from earliest to
latest :

a. POCSO Act b.
c. CRPD Act d.
Codes :

(1) d.b.c,a
3) b,d,c,a

RTE Act
GAW Act

{2} 'h.d. 2.6
(4) d,c,b,a

Arrange the following steps of the
communication process as per the
Schramm's first model of communication :
a. Source b. Message

¢. Encoder d. Decoder

e. Destination

Codes :

(1) a,b,c.d, e (2) a,c,b.d.e
{3y a,d.c b€ (4 &a,d; &e.b

Sarva Shiksha Abhiyan (S.S.A.) was
launched in the year

(1) 2001 (2) 2005

(3) 2010 (4) 2015

Which of the following are visual
teaching aids ?

a. Black Board

b. Posters

c. Public address system

d. Flash card

Codes :

(1 a,c.d (2) a,b,d

(3) b,d (4) a,b,c

Flat puppets which are operated

behind the tightly stretched white
cloth screen with light are called
(1) Glove puppets
(2) Rod puppets
(3) String puppets
(4) Shadow puppets
20
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Mr. Kailash Satyarthi was given
Nobel Peace Prize 2014 for his work
on

(1) Bachpan Bachao Andolan

(2) Beti Bachao Beti Padhao

(3) Swachh Bharat Mission

(4) Narmada Bachao

Arrange the steps of programme
planning in correct sequence :

a.  Community needs assessment

b.  Setting goals and objectives

¢.  Problem identification

d.  Programme planning

e.  Selecting intervention

f. Monitoring and evaluation
Codes :

(1) c.a,b,e.d, f
3) o bhdieat

{(2) aeeb.d. T
(4) b,c,a, e d f

Aspects of non-verbal communication
a. Body language

b.  Facial expression

¢. Posture

d. Rigour of repetition

Codes :
(1) a,b,c (2) b,c.d
(3) a,b,d (4) a,c,d

Three stages of family lite cycle are
given by

(1) Nickell & Dorsey

(2) Gilbreth

(3) Bigelow

(4) Parker

“Classes of change™ were stated by
(1) Marvin Mundel(2) Knowles
(3) Lillian Gilbreth(4) Norman

Which of the following are included
in the four C’s of credit ?

a. Character

b. Capacity

c. Causes

d.  Credit Score/Capital

e. Collateral
Codes :

(1) a,b,c,d
(3) a,c,d, e

(2) b,c.d,e
(4) a,b,d, ¢
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Intensity or chroma in colour includes
a. Brightness b. Dullness

¢c. Tone d. Shade
Codes :

(1) a,b,c.d (2) a.b

(3) b,c.d (4) a,c,d
Which organisation among the
following is related to “Green
Building Certification™ ?

(1) CSRI (2) MNRE

(3) NIOSH (4) LEED
Which type of floor is best suitable
for Indian kitchen ?

(1) Rubber (2) Kota stone
(3) Wooden (4) Ceramic tiles
‘Body Mechanics™ to save energy

during work were given by
(1) Esther C. Bratton

(2) Knowles

(3) Marvin Mundel

(4) Gilbreth

What is the correct sequence of
decision making process ?

a. Defining the problem

b. Identifying the alternatives

c. Action & accepting
responsibility for  decision
making

d. Selecting the alternatives

e. Analysing the alternative
Codes :

(1) byd.c,a,¢ (2) e, b,d.c,a
(3) a, b.d.cqe (4) a bie;d/c

*Footing™ for walls is known as
(1) Basement (2) Foundation
(3) Plinth Beam (4) Flooring

Proper blending as well as
management of time and human
energy is known as

(1) Work management

(2) Work simplitication

(3) Work direction

(4) Work dynamics
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IS :

(1) a, b,cd (2) b,cd
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(1) ST (2) HIR
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(1) oo g et

(2y faTwEs

(3) W TWIgS

(4) shEETaR

54.

While making “will" following cannot

be considered as witness :

(1) Any known adult, younger than
testator

(2) Spouse of the testator

(3) Beneficiary under the “will”

(4) (2)and (3) both

Statement (A) : 1Q is a measure of
Intelligence ability that is inborn
and does not change with age.

Statement (B) : Test scores of infants
and toddlers show hardly any

change when  they reach
adolescence and are tested.
Codes :

(1) Both (A) and (B) are correct.
(2) Both (A) and (B) are wrong.

(3) (A) is correct and (B) is
incorrect.

(4) (A) is incorrect and (B) is
correct,

The various approaches to educate
learning disabled children are

a. Preventive programme

b.  Multi-sensory approach

¢.  Cognitive training

d.  Experiential learning

Codes :

(1) a,b,c.d (2) b,c,d

(3) a.b,d (4) a,b.c

Who classified personality into

endomorphic, mesomorphic, ectomorphic ?
(1) Sheldon
(3) Spranger

(2) Crashmer
(4) Thorndike

Following western thinkers believed
that sensorimotor development of a
child is basic for his intelligence :

(1) Piaget & Montessori

(2) Piaget & Freud

(3) Montessori & Freud

(4) Erikson & Rutter
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o
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(2) (A)TTEd & 3R (B) WEI © |
(3) (A)3MR (B) AT T |
() (A) W&l 3R (B) TERIE |
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Impact of peer group is strongest
during the following stage of life :
(1) Infancy (2) Childhood
(3) Adolescence  (4) Adulthood

Which one of the following is not

considered as characteristic of a

family ?

(1) It is a community of people.

(2) It gives atmosphere of security
and affection.

(3) A unit where related persons
share common houschold.

(4) Lack of affinity among members.

Who is the founder of “Kindergarten™ ?
(1) Rousseau

(2) Pestalozzi

(3) Froebel

(4) Maria Montessori

According to Erikson’s theory of
personality development which stage
is related to adolescence ?

(1) Initiative v/s Guilt

(2) Industry v/s Inferiority

(3) Identity v/s Role confusion

(4) Intimacy v/s Isolation

Arrange the Kohlberg's stages of moral
development in correct sequence :

a. Social order maintaining orientation.
b. Punishment and obedience orientation.
c. “Good boy — good girl™ — orientation
d. Instrumental purpose orientation
Codes :

(1) a,b,c,d
(3) c¢,d.b,a

Statement (A) The Montessori
Method is a special technique of
psychotheraphy.

Statement (B) : Pre-school children
are taught by specific technique
developed by Maria Montessori.

Codes :

(1) (A) and (B) both are correct.

(2) (A) is incorrect and (B) is
correct.

(3) (A) and (B) both are incorrect.

(4) (A)is correct and (B) is incorrect.
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What are the common chromosomal
abnormalities ?

a.  Multiple sclerosis

b. Down syndrome

c. Scurvy

d.  Turner’s syndrome

Codes :
(1) b.c.d (2) a.b,d
(3) a,¢ d (4) a,b,c

The most important technical process
in the production of clothing for
fashion 1s

(1) Pattern cutting (2) Stitching

(3) Pinning (4) Weaving

Which one of the following is not a
type of simple weave ?

(1) Rib weave (2) Basket weave
(3) Dobby weave (4) All ofthese

With the use of which of the
following process of “finish’, the
tinished product will not shrink or
stretch after washing ?

(1) Embossing (2) Calandering

(3) Sanforisation (4) Pressing

Which yarn in a fabric is stronger and
stretches little ?

(1) Warp (2) Weft
(3) (1)&(2)both (4) None of these

For Patola sarce making the ‘“tie-
dyeing’ process is carried out at
tollowing stage :

(1) Betore the fabric is woven.

(2) After the fabric is woven.

(3) (1) &(2)both

(4)

None of these



68.

69.

70.

71.

72.

73,

74.

5.

PafifRa § S oF 3 uene feemsa | favd!
X1 P YA S ISTERU1 B ?

P (< & ) b. ®fwxem

i e d. iy wite
PIS

(1) a,b (2) a,cd

(3) ab,c (4) a,b,d

T 3T N B 9 el BH S ?

a.  QEfdT b,  UdMHd ®IA
c. e d.  ofdm
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(1) faerfiE & @t wht

2) fefEd-i2atsd

(3) dieaT

(4) I AT B HHI
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(1) 13% (2) 23%
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Which of these are examples of using
diagonal line in clothing design ?

a. Raglansleeve b  Halter top
c. Fish Dart d. Box pleat
Codes :

(1) a.b (2) a,c,d

(3) a,b,c (4) a.b,d

Give the correct sequence in the
production of garments :

a. labeling b. assembling
c. cutting d. packing

e. stitching

Codes :

(1) c,e,ab.d 2] a:.b.¢ d.#
(3) b,e,c,d,a (4) c,e,b.d, a

Which of the following types of sarees
has motives inspired by temples ?

(1) Kanjiwaram saree

(2) Bandhani saree

(3) Ikat sarees

(4) Patola sarces

Out of following who is a French
fashion designer ?

(1) Amanda Wakeley

(2) Michael Kors

(3) Pierre Cardin

(4) Tarun Tahiliani

The common name used for
“Spandex™ fibre is

(1) Lycra (2) Vicose

(3) Rubiya (4) Chiffon
What is the cause of microcytic

hypochromic anemia ?

(1) Detficiency of Vitamin B
(2) Deficiency of Vitamin B,
(3) Injury

(4) Deticiency of Folic acid

Following is not a source of Vitamin B, :
(1) Liver (2) Egg
(3) Soyabean (4) Milk

Atleast following amount of free

water in foods is required for
microbial growth :

(1) 13% 2) 23%

(3) 53% (4) 63 %

20
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80.

81.

When carbohydrate containing toods

are fermented, following end products

are obtained :

(1) Amino  Acid + Hydrogen
Sulphide + Gas

(2) Fatty Acid + Glycerol + Gas

(3) Acids + Alcohol + Gases

(4) Hydrogen Sulphide + Gases

Amount of sugar, salt and vinegar
used separately in difterent foods for
preservation should be respectively as
(1) 66%,15-25%&2%

(2) 75 %, 28—-30%&5 %

(3) 50%, 5-10%& 10%

(4) 55%,5-8%&8%

Colour of food if turns Magenta Red
colour by adding concentrated
Hydrochloric ~ acid, it indicates
adulteration of tollowing :

(1) Starch (2) Soda

(3) Metanil yellow (4) Argemonc oil

Transtat content of fast foods should
not be more than

(1 5% 2) 3%

(3) 2% 4 1%

In general, diet plan of a diabetic

person must include following form

of carbohydrate :

(1) Foods with high fibre content
and low glycaemic index

(2) Foods with high fibre content
and high glycaemic Index

(3) Foods with low tibre content and
high glycaemic index

(4) None of these

An Act (2013) of our country aims to

provide subsidized food grains to

approximately (wo third of India’s

people for food security is known as

(1) National Food Security Act

(2) National Hunger Project

(3) Food Safety & Security Act

(4) None of these
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Which one of the following is not an
antioxidant ?

(1) Melatonin
(3) Genistein

(2) Aflatoxin
(4) Diadzien

"National  Nutrition Policy”  was
adopted by Government of India in
year

(1) 1990 (2) 1993

(3) 1998 (4) 2000

The main qualities of space food used
by astronauts :

a. Light in weight

b. Lessin volume

¢.  Nutritious

d.  Palatable and peeled

Codes :
(1) a,b,c,d (2) a,b,c
(3) a.b (4) b,d

[dentity the organization related to
consumerism :

a. CFBP b. CERC
c. SERC d. ILO
e. VOICE

Codes :

(1) a,b.d.e (2) a,e
(3) a,b.d,c.e (4) b,c,d

With reference to “ergonomics” which

statement is correct ?

(I) “Fitting the environment to the
man’

(2) ~Fit the job to the man™

(3) (1) & (2) both

(4) “Fit the man to the job™

The full form of SASMIRA

(I) Silk and Synthetic Mills and
Research Association

Synthetic and Art Silk Mills and
Research Association

Silk and Art Silk Mills and
Research Association

(2)

Mills and Research Association

Standard and Specification of

20
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Which dyes are suitable for wool and
silk ?

(1) Acid
(3) Vat

(2) Basic
(4) Mordant

Family planning programme of India
is mainly controlled by which of the
tollowing ministry ?

(1) Ministry of Health

(2) Ministry of Health & Family
Weltare

Ministry of Family Welfare
Ministry of Social Welfare

(3)
(4)

Which one of the following is a
parenting style that is responsive but
undominating, an overly tolerant
approach to child rearing ?

(1) Authoritive style

(2) Active style

(3) Permissive style

(4) Passive style

Two of the following Acts deal with
the protection of women and girls
against violence :

a. RTI Act—2005

b. Domestic Violence Act — 2005

c. RTE Act—2009

d. PCPNDT Act— 1994

Codes :

(1) a,b (2) b.c

(3) c.d (4) b.d
Following is not a part of
“Participatory ~ Rural  Appraisal”

Approach of extension :

(1) Use of local people’s capabilities
(2) Change in behaviour & attitude
(3) Mode of instruction is verbal only.
(4) Empowerment of local people

To make learning effective. a goal
must be meaningtul in terms of

(1) Objectives of the curriculum

(2) Intellectual ideas

(3) Standards of others

(4) The needs and purposes of students
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The tundamental property of learning
is that it

(1) to bring changes in the behaviour
(2) promotes physical maturation

(3) requires perceptual skills

(4) change due to fatigue

An effective teacher is the one who can
(1)
(2)
(3)
(4)

control the class
give more information in less time
motivate students to learn

corrects the assignments carefully

Negative transfer of training is also
known as

(1) Neutral Transfer

(2) Habit Interference

(3) Zero Transfer

(4) Bilateral Transfer

Which of the following aspect is not
included in the Bloom's Taxonomy of
instructional objectives ?

(1) Social (2) Cognitive
(3) Affective (4) Psychomotor
Assessment for learning takes into
account the following, except :

(1) Strengths of students

(2) Needs of students

(3) Learning styles of students

(4) Habits of students

The student who fail in his/her
examination blames examiner, this
type of defence mechanism is called
(I) Rationalization

(2) Projection

(3) Compensation

(4) Reaction formation

Which of the following statement is

correct about the nature of emotion ?

(1) Emotions have different meaning
for ditterent child.

(2) Emotions are permanent.

(3) Emotional expressions are
modified by learning.

(4)

Emotions cannot be controlled.
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WHO (World Health Organization)
defines adolescent age between

(1) 10-19 years of age

(2) 10— 14 years of age

(3) 12— 18 years of age

(4) 10-21 years of age

Which of the following is not a
developmental problem of
adolescence period ?

(1) Difficulty in progress development
(2) Adjustment with parents

(3) Excessive mood swings

(4) Adjustment difficulties with the

community

. The period from 7 — 12 years of age is

known. according to Piaget’s theory
of cognitive development, as

(1) Formal operational

(2) Concrete operational

(3) Intuitive thought

(4) Pre-conceptual phase

Which type of conditioning is most
effective for learning ?

(1) Delayed conditioning

(2) Simultaneous conditioning

(3) Trace conditioning

(4) Backward conditioning

The law of readiness for learning does
not mean

(1) to have acquired  sufficient
knowledge need for learning.

(2) to be sufficiently motivated to
learn.

(3) to have sufficient ability and
interest to learn.

(4) to have undergone pleasant
experiences about learning.

Which of the following operation

does not pertain to the process of

-operant conditioning” ?

(1) Shaping (2) Extinction

(3) Reinforcement (4) Imitation

Which is the most effective

reinforcement schedule for effective

learning ?

(1) Continuous Reinforcement

(2) Fixed Ratio Reinforcement

(3) Variable Reinforcement
(4) Fixed Interval Reinforcement
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Which ot the following approach
supports co-operative learning ?

(1) Multi-sensory Approach

(2) Behaviouristic Approach

(3) System Approach

(4) Constructive Approach

Which of the following is not the

social cause of maladjustment ?

(1) Injustice prevailing in the society

(2) Disability

(3) Faulty social environment of the
school

(4) Communal tension

If you are mal-treated in the class
being a newly appointed teacher, then
how will you deal with the students ?
(1) Through tough punitive measures.
(2) Through warning of expulsion.
(3) Through improving your qualities.
(4) You will leave the class.

For harmonious development of the

personality of the child, parents should

(1) provide over protection to the child.

(2) regularly compare the child with
other children.

(3) provide conclusive environment
at home.

(4) provide under protection to the child.

The Book. "Working with Emotional

Intelligence™ is written by

(1) Jhon W. Best

(2) Peter Solvey

(3) Jhon Mayer
(4) Daniel Goleman

The teaching learning material should
be selected on the basis of

(1) Psychological principles

(2) Sociological principles

(3) Scientific principles

(4) Natural principles

In communication process, decoding,
encoding, feedback and response are
together classified as

(1) Communication tools

(2) Communication channels

(3) Communication elements

(4) Communication parties

20
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. In Mass Communication, selective

perception is dependent on the
type receivers.

(1) Pre-disposition (2) Receptivity
(3) Ethnicity (4) Competence

Which of the following methods of
communication is the most effective ?
(1) Presenting written material

(2) Presenting visual material

(3) Multi-Media Method

(4) Cannot be determined.

Teaching Models are the

(1) Theory of Teaching

(2) Maxims of Teaching

(3) Phases of Teaching

(4) Instructional designs of Teaching

Which of the following is not 2
fundamental principle of programmed
learning ?

(1) Immediate reinforcement

(2) Self pacing

(3) Seltor student testing

(4) Passive responding

Which approach out of the following 18

known as Educational Technology—Il ?

(1) Hardware Approach

(2) Software Approach

(3) Multi-Sensory Approach

(4) System Approach

Which of following is contributed for

offective communication in a class 7

(1) Disinterest of students

(2) Noisy environment

(3) Interactive environment

(4) Disorganised material
communication

of

Which of the following is not software ?
(1) Teaching Machine

(2) Chart

(3) Slides

(4) Audio-Video Cassette

A computer program that translates
program instruction at a time into
machine language is called a/an

(1) Interpreter (2) Simulator
(3) Compiler 4) Commander
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Extension education planning should
be

a. Flexible b. Adaptable
c. Consistent d. Stable
Codes :

(1) a.b.c (2) a,b,c.d
(3) b,c.d (4) b.c

At the secondary school level Home
Science was first introduced in which
of the following places ?

(1) Mumbai (2) Bangalore
(3) Delhi (4) Baroda

Status of Home Science can be
viewed as —

(1) A career oriented education

(2) A community building education
(3) A recognised academic discipline
(4) All of these

Some of the emerging aspects of
extension education are

a. Participatory approach

b. Increased use of media

¢. Teaching extension education in

school.

d. Privatisation of extension
education.

Codes :

(1) a,b,c (2) a,b,d

(3) b.c,d (4) b,d

To open a new account under the

~Sukanya Samridhi Yojana” for

financial benefit scheme for the girl
child. what is the upper age limit of
girls ?

(1) 1 year (2) 5 years
(3) 10 years (4) 18 years
Vitamin By is also called as

(1) Biotin

(2) Folic acid
(3) Pyridoxine
(4) Cyanocobalamine

Cooking in minimum amount of
water or liquid at a temperature of
80 — 85 °C is called
(1) Poaching

(3) Boiling

(2) Simmering
(4) Steaming
20
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Placing food into boiling liquid and
immediately immersing in cold water
to destroy enzymes present in food is
called —

(1) Blanching

(3) Soaking

(2) Marinating
(4) Filtering

Functions of foods are as follows :

(1) Energy yielding, body building
& protection

(2) Energy yielding, body building,

protection & regulation

Energy yielding, body building,

protection, regulation and

maintenance of health

(4) None of these

As per ICMR, food is classified into

the following tfood groups :

(1) Basic Four groups

(2) Basic Five groups

(3) Basic Six groups

(4) Basic Ten groups

. According to food guide pyramid,

following food group should be
consumed in minimum amounts :

(1) Cereals, Fruits & Vegetables

(2) Pulses, Nuts & Oil seeds

(3) Milk & Meat

(4) Sugar & Fat

Which of the following vitamins is
destroyed on cooking ?

(1) Thiamine (2) Riboflavin
(3) Niacin (4) Ascorbic acid

In microwave oven food is cooked by —
(1) Electromagnetic waves

(2) Ultraviolet rays

(3) Electricity

(4) X-rays

Fats & oils provide us —
(1) energy & fatty acids
(2) energy & tocopherols
(3) energy & carotenoids
(4) All of these
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. Normally a balanced diet

Food source of galactose is —
(1) Animal Milk (2) Soyabean Milk
(3) Groundnut Milk (4) All of these

Which of the following foods has the
highest carbohydrate content ?

(1) Sago (2) Rice

(3) Sugar (4) Dried Dates

should
provide percentage of calories trom
carbohydrate, ~ protein & tat
respectively as under :

(1) 60-70%.20-25% & 10-12%
(2) 20-25%, 10-12% & 60— 70%

(3) 60-70%, 10-12% & 20-25%

(4) 10-12%, 60-70% & 20-25%

Safe & secured way of saving money
is —

(1) in mutual fund

(2) inshare market

(3) in national bank & post ottice

(4) lending money to businessman

Following is very useful & limited in
availability :
(1) Values
(3) Resources

(2) Equipments
(4) Goa_ls

. If someone wants to gain a good

return from his money. he has to —
(1) Invest the money

(2) Utilize the money

(3) Keep the money at home

(4) None of these

~Home Management is planning.
controlling and evaluating the use ot
resources of the family for the
purpose of attaining goals™, this
definition is given by

(1) Gross and Crandall

(2) Nickell and Dorsey

(3) Gross, Crandall and Knoll

(4) Phillip Kotler
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Principles of Home-Management are

a. Fulfillment of needs of family
members

b. Keeping a balance between
tamily income and expenditure

c. To perform household work
etfectively.

d. Psychological satistaction

Codes :

(1) a.b.c.d

(3) b.c.d

(2} &b
(4) a.c,d

. Value. goal & standards of a person

greatly aftect his —
(1) environment (2) physical strength
(3) decision making(4) income

The two types — Internal value &

External value are given by

(1) Parker (2) Lindsey

(3) Maslow (4) Super

Budget is based on which law ?

(1) Engel’s Law of Consumption

(2) Law of Equi-Marginal Utility

(3) Law of Marginal Utility

(4) Law of Diminishing — Marginal
Utility

Hierarchy of needs as per Maslow’s

theory of motivation are —

a. Belonging and love necds

b. Safety needs

c. Physiological needs

d. Self-esteem needs

e. Self-actualization needs
Codes :

(1) a.d, 6 b€ (2) c,b.d.a e
(3) e, d,e;bsa (4) c,bya.d.e

Indirect and Direct Income are type of —
(1) Money Income

(2) Real Income

(3) Psychic Income

(4) Money & Real Income

Simple pen and pencil techniques in
work simplification includes —

a. Pathway chart

b. Process chart

¢. Micromotion analysis
d. Operational chart

Codes :
(1) ab,cd (2) a,/b,d
(3) ab.c (4) b.c,d
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